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	If tan x = ¾ and  , find the values of  sin , cos  and  tan.
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If sind + cosB = 1, then the value of sin20 is equal to -
(@) 1 ®) +
2

(c) 0 (d) 2.
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Write the conjugate of

2-
(fl)
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4n-3
The value of (—\/jl) ,whenn eN,is
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Find x and y if (x + iy) (2 - 3i) =4 +1i.
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Solve 5x <24 whenx e N
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If ?C5 = 2C, thenr =




image14.png
What is the number of signals that can be sent by 6 flags of
different colours taking one or more at a time?

(a) 45 (b) 63
(c) 720 (d) 1956.
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What is the number of ways of arrangement of letters of word
‘BANANA' so that no two N'’s are together -

(a) 40 (b) 60
(c) 80 (d) 100.
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If "Cns = 720, find n.
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Let A={1,2, 3}, B={4, 6, 9}if relation R from A to B defined by
X is greater then y. the range of R is -

(a) {1,4,6,9} (b) {4, 6,9}
() {1} (d) None of these.
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DIRECTION: In the following questions, a statement of assertion (A) is followed by a statement of reason
(R). Mark the correct choice as:

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

QI Assertion: If 4 = {1,2,3}, B={3,4} and C = {4, 5,6}, then (4 x B) U (4 x )
={(1,3),(1,4), (1,5), (1,6),(2,3),(2,4), (2, 5). (2, 6), 3, 3), (3, 4). (3, 5), 3, 6)}.
Reason: A x A x A= {(a, b,¢) : a, b, c € A}. Here (a, b, ¢) is called an ordered triplet.
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Q2 Assertion: The ordered pair (5, 2) belongs to the relation
R={(xy):y=x-5,xy€Z}
Reason: Given two non-empty sets P and Q. The cartesian product P x Q is the set of all ordered pairs of
elements from P and Q, i.e.
PxQ={(pq):p€P.geQ}
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Are sets A={1,2,3,4},B={x:x e Nand 5 < x <7} disjoint?
Justifv?
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If A and B are finite sets such that n(A) = 5 and n(B) = 7, then
find the number of functions from A to B.
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Find the length of an arc of a circle of radius Scm subtending a central
angle measuring 15°.
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If n is any positive integer, write value of !
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LetA={1,24,5B={2 3,5, 6} C=1{4,5, 6, 7} Verify the
following identity

AuBnNnC)=(AuB)n(AuUC)
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If A={2,4,6,9} B = {4,6,18,27,54} and a relation R from Ato B is
defined by R = {(a,b): ae A, be B, ais a factor of b and a < b},
then find in Roster form. Also find its domain and range.
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. . x 3x
ndx+sin5x=4cos=.cos =

sinx+sin2x +
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1+ (1=i) )
If| — | -| —| =a+ib,findaandb.
1-i 1+i




image30.png
A group consists of 4 girls and 7 boys. In how many ways can a
team of 5 members be selected if a team has

(i) no girl
(i) at least 3 girls

(iii) at least one girl and one boy?
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Evaluate (\/E""I)E —(\/2—1)5 using binomial theorem.
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19. A general election of Lok Sabha is a gigantic exercise. About 911 million people were eligible to vote
and voter turnout was about 67%, the highest ever

ONE - NATION
ONE - ELECTION

FESTIVAL OF

DEMOCRACY
ceneraLeLecTion - | TR
2019 MY VOICE

Let I be the set of all citizens of India who were eligible to exercise their voting right in
general election held in 2019. A relation ‘R is defined on I as follows:
R={(V1,V2): V1,2 €I and both use their voting right in general election — 2019}
19 (i) Two neighbors X and Y€ L. X exercised his voting right while Y did not east her vote in general
election — 2019. Which of the following is true?

a.(X.Y) ER b.(Y.X) R

. (XX) €R 4. (X.Y) R
19 (i) Mr X" and his wife ‘W’both exercised their voting right in general election -2019, Which of the
following is true?

a both (X,W) and (W,X) € R b.(X,W) € R but (W.X) € R

<. both (X,W) and (W.X) € R 4. (W.X) € Rbut (XW) € R
19 (iii) Three friends F1, F2 and F3 exercised their voting right in general election-2019, then which of
the following is true?
a (FLF2) R, (F2F3) € Rand (FLF3) €R b.(FI,F2) € R, (F2F3) € Rand (FLF3) € R
© (FLF2) € R, (F2F2) eR but (F3F3) € R &.(FLF2) € R, (F2F3) € Rand (FLF3) € R




image33.png
. Inasurvey of 500 television viewers, it was found that 285 watch football, 195 watch hockey,

115 watch basketball, 45 watch football and basketball, 70 watch football and hockey, 50
watch hockey and basketball, 50 do not watch any of the three games.

Based on the above information, answer the following questions:
(/) How many viewers watch atleast one of the three games?

(a) 325 (b) 375 (c) 400 (d) 450
(i) How many viewers watch all the three games?

(a) 20 (b) 25 (c) 30 (d) 40
(iii) How many viewers watch football only?

(a) 265 (b) 170 (c) 190 (d) 205
(iv) How many viewers watch hockey only?

(a) 75 (b) 95 (c) 55 (d) 85
(v) How many viewers watch football and hockey but not basketball?

() 25 (d) 20

(a) 50 () 35
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1. The letters of the word ‘COMPUTER’ are arranged in all possible ways.
Based on the above information, answer the following questions:

(i) The total number of words with or without meaning that can be formed is

(@) 8Cq (b) 8y (c) 2x5pg () 8x7p,
(if) The number of words in which vowels occupy odd places is
@9Pyx 5 o) [3x[5 (0) 1Cyx |5 (d) Pyx [4
(if) The number of words in which vowels occur together is
@ 16 &) Bx|s () 3x]6 @ |5
(i) The number of words starting with C and end with R is
(@) 26 ®) 5x[2 (© [5x[3 @) |6
(v) If all the words formed are arranged as in dictionary order, then the rank of the word
COMPUTER is

(a) 1607 (b) 1512 (¢) 1706 (d) 1152
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If the coefficient of 5, 6™ and 7" terms in the expansion of
(1 +x)" are in A.P., then find the value of n.
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In set builder method the null set is represented by

@f{ } (b) & (©){x:x#x} (d) {x:x=x}.
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While drilling a hole in the earth, it was found that the
temperature (T°C) at x km below the surface of the earth was
given by T =30 + 25(x — 3), when 3 <x < 15.

Between which depths will the temperature be between 200°C
and 300°C?
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If A and B are two given sets, then A n (A N B)' is equal to

(@A (b)B"  (©)¢ (d)A-B.
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If A and B are two sets such that A c Bthen AN B'is
(a)A (b) B’ )¢ (d)AnB.
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Let A= {1, 2, 3}, B ={4, 6, 9} if relation R from A to B defined by
X is greater then y. the range of R is -

(a) {1,4,6,9} (b) {4, 6,9}
() {1} (d) None of these.
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Findaandbif(a—1,b+5)=(2, 3)
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The value of tan1° x tan2° x tan3° ...
(@) 0

() % (d) Not defined.




